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QUESTION 1

What are two circuit breaker types found in a building or data center? (Choose two.)
A. Thermal

B. Magnetic

C. Fast-acting

D. Photovoltaic

Correct Answer: AB

QUESTION 2

What are three advantages of biometric access control? (Choose three.)
A. Cannot be lost

B. Inexpensive to deploy

C. Difficult to fool the sensor

D. Cannot be shared with others

E. Always correctly identifies the user

Correct Answer: ACD

QUESTION 3

"The degree to which a system or component is operational and accessible when required for use" is the definition for
which term?

A. Reliability

B. Availability

C. Serviceability
D. Maintainability

Correct Answer: B

QUESTION 4

What are two reasons for choosing enclosures with square holes and cage nuts? (Choose two.)
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A. Eases repair of mounting rails
B. Eases installation

C. Eases bolt alignment

D. Eases enclosure stabilization

Correct Answer: AC

QUESTION 5

Which UPS topology uses a transfer switch between the primary power source and the inverter?
A. Standby

B. High speed relay

C. Delta conversion online

D. Double conversion online

Correct Answer: A
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